Draving No:

]

4

5

8

BAISF10

DO NOT SCALE IF IN DOUBT ASK

i
20

THIRD ANGLE@—G

24 Q] D
1 Eric Hogervorst 14,/01,/00
1SS DRAWN By oA APPROVED By | AT
4 f f UNLESS OTHERWISE STATED | TITLE:
O ALL DIMENSIONS IN mm CHp ISAAC NEWTON GROUP
X . . Apartado de Correos, 321
GENERAL TOL: + 0.2 Ingrid Silver Flat 38780 S/C de La Palma F
ANGULAR TOL: £ 0.2 Canary Islands
SURFACE FINISH 1 g VATERIAL ORIGIVAL SCALE [WAIN SYSTEN WG TYPE SPAIN
(MICRONS) va Copper plate 11 ALG Box part
N SUB—SYSTEM LOCATION .
REMOVE ALL SHARP EDGES Silver Ingrid BA Tel: +34 922 425 400
R TR o S W, [FINISH Rl Fiot - ORAMING
. J3RES ond moy not be Copied a
Vot s press ortien Sondent of he' Tadc clean A3 [ene oiscrone BAISFO9 NUMBER BAISF10 sHEET ToF 1
NEWTON CROUP of TELESCOPES MECHANICAL

I A

6

CAD FILE BASIF10.dwg



ISAAC NEWTON TITLE: Ingrid Silver Flat NAME DATE REVISION
GROUP OF INGRID Lens Mounts DRAWN: Eric Hogervorsy  24/01/00 |1
TELESCOPES DWG No: BAISFOO0 CHECKED:
B Apartado de Correos 321, 38780 S/C de La Palma, Canary Islands, SPAIN APPROVED:
GA ITEM No. Per

N DRAWING NUMBER REV DRAWING TITLE OR COMPONENT NAME ASSEMBLY REMARKS MATERIAL

BAISFOO0 1 General Assembly 1
1 BAISFO1 1 Base Plate 1 Dural
2 1 Rail 2 NSK LS-25-640-CL-2-PN-Z1-II
3 1 Slide 4 NSK LS-25-640-CL-2-PN-Z1-II
4 BAISF04 1 Moving Plate 1 Dural
5 BAISF05 1 Web 1 Dural
6 BAISF06 1 Web 2 Dural
7 BAISFO7 1 Adjust mount 3 Dural
8 BAISFO08 1 Mounting Plate 1 Dural
9 BAISF09 1 Backing Plate 1 Dural
10 BAISF10 1 Clip 4 Copper
11 BAISF11 1 Mirror 1 Specac BK7
12 BAISF12 1 Pin 3 Stainless steel 316
13 1 Nut M5 3
14 1 Screw M5 3
15 1 Spring 3
16 1 Washer 3 ID=8.3 OD=14
17 1 Cap Head 9 M4x12
18 1 Cap Head 8 M3x10
19 1 Cap Head 22 M6x15
20 1 Cap Head 16 M5x15
21 1 Cap Head 8 M6x25
22 1 Cap Head 6 M6x35
23 1 Cap Head 3 M6x10
24 1 Cap Head 6 M6x15

Printed: 19/07/00, 14:39

Filename: BAISF00.xls

SHEET10F1




-

Drawing No:

1 7 3 L

5

BAISFO7

DO NOT SCALE

iu
=

IF IN DOUBT ASK

] 0

T =| segment
<C oo v — |

s Qs o/~

O R

o) gi

()

note: total quantity: 3
one without segment B

8

THIRD ANGLE@—JE‘L

S HOLES 94.2 EQUI
SPACED ON 29 PCD

1 Eric Hogervorst | 22/12/1999
DATE DATE
ISS| DRAWN By DA | APPROVED By | AT
UNLESS OTHERWISE STATED | TITLE:
ALL DIMENSIONS IN mm Adjustmount ISAAC NEWTON GROUP
S Apartado de Correos, 321
EEZET;:; %v i gg Ingrid Silver Flat 38780 S/C de La Palma
: Canary Islands
SURFACE FINISH 1 ¢ TATERIAL SRGNAL SOALE WA SVSTEN oG TPE SPAIN
(MICRONS) % dural 11 A&G Box part
N SUB—SYSTEM .
REMOVE ALL SHARP EDGES ) Silver Ingrid Flat oo Tel: +34 922 425 400
AGED SeerszE [ oot TS on
pied, . ar DRAWING
: o black anodised A3 IR oRoRRE BAISFOB BAISFO7 SHEET ToF 1
NEWTON GROUP of TELESCOPES MECHANICAL NUMBER

6

CAD FILE BAISFO7.dwg




f 1 2 3 I | 5 6 7 8 T

DO NOT SCALE | IF IN DOUBT ASK THIRD ANGLE@»—G

" BAISFO9

A
B
45
_ Y 96 //
1 *
N (o8 N |
C o A\
@ ]
L ke A N
<
~
o~ x
co N Q
] N o+ o) N L
. Sl-for B ® . 3 HOLES EQUI SPACED
ASS < 4” .
g o ‘ "~ ON 130 PCD (see section A—A)
L <
c
0 S — 1 — B ~ i /@//
e |
8 ~ ~
Bl oo . e /
o < T N .
& ol © —
00 o
- g R5typ.
£ X
C
> 15 typ. 20 (4x)
"o
— o
()]
’:
] 70
10
140
G
1| Eric Hogervorst | 24/01/00
ISS | DRAWN By owme | APPROVED By | 24T
1 off UNLESS OTHERWISE STATED [ TITLE:
ALL DIMENSIONS N mm Backingplate ISAAC NEWTON GROUP
" mo o Ingria Siiver Flat ot e G
(MICRONS) ¢ - dural . AZG Box part
REMOVE ALL SHARP EDCES I e — Ingrid Fiot AN g Tel: +34 022 425 400
e FNSH: EaEa i art -
& o black anodised A2 fEsEme > sz | SRR BAISFO9 seeT 10F 1
MECHANCAL
YT ] \ 6
CAD FILE BAISFOS.dwg




CAD FILE BAISFO1.dwg

| 2 3 4 5 6 1 | 8 | 9 | 10 il 12 3 14 15 | 16
brawing Nor
BAISFOT DO NOT SCALE  IF IN DOUBT ASK THIRD ANGLE@’ =
635
495
355
215
12
85 ’.2_5, T
& & & & 245 0 r
N [fe}
S S S S S SR SR S S SRS .
PS BECE r
&
o
[
©
o
Lp)
l!? -
@D
A=Y
»
©
S
< | &
o b (o}
o @ s ~
§ = e a <
< o o i il —
) w (2]
’cg — M
e
" ik
~
L _
w
. 2 ;
'e}
. :
& & FPWELS Y1 O 1
70 (22xM6 holes on 60mm pitch) mx
125
265
405
545
695
| |
[ = i i i i |
50x45°(2X) | ‘ 10x45 ||
225
1
545
710
1 Eric Hogervorst | 20,/12/1999
1SS DRAWN By oA APPROVED By | DA
UNLESS OTHERWISE STATED TITLE: ISAAC NEWTON GROUP
ALL DIMENSIONS IN mm Baseplate Apartado de Correos,321
Eizm; % i gg Silver Ingrid Flat 38780 S/C de La Pdma
- Canary Islands
(S’;J‘DZFR/B%ES)F\N\SH Wy VATERIAL ORIGNAL SCALE AN SYSTEN [ e SgA\N
ox
dural 1.2l .
REMOVE ALL SHARP EDGES Silver Ingrid Flat Tel: +34 922 425 400
Thichgﬁz'mel[\¢T;i\Eg%saFt';;hedlSAAL‘ m:vgrau FINISH: SHEET SIZE ITEM N USED ON
5 s o : ar
gt e o ot Pl o mat black painted Al |pemsmoe . wousen BAISFO1 sheer Tor
NEWTON CROUP of TELESCOFPES ‘ MECHANICAL
7 3 L 5 6 l 7 CT T T TV T T T T 7 10 I il l 12 B3 l T4 T 5 T 16




]

4

\ 5

8

Drawing No:

BAISF12

DO NOT SCALE IF IN DOUBT ASK

THIRD ANGLE@—G

Lo ]
@\
—
S
1 Eric Hogervorst | 22/12/1999
ISS | DRAWN By oAE. | APPROVED By | BATE.
UNLESS OTHERWISE STATED | TITLE:
ALL DIMENSIONS IN mm Pin ISAAC NEWTON GROUP
. e Apartado de Correos, 321
CENERAL TOL: £ 0.2 Ingrid Silver Flat 38780 S/C de La Palma
ANGULAR TOL: £ 0.2 Canary Tolamds
SURFACE FINISH 1 g VATERIA RIGNAL SOALE AN SYSTER oW TVE SPAIN
(MICRONS) % Stqginless steel 316 11 AXG Box part
: SUB—SYSTEN .
REMOVE ALL SHARP EDGES Silver Ingrid Flat oo Tel: +34 922 425 400
mre‘;f/:ncfmripl.‘tg'?w):’sm e 1saac NwToN [FINISH: SHEET SiZE |TEM Pt USED ON
o COPES ond may not be copied, ar DRAWING
W S T % P clean A3 [ osere BAISFo7 wweer | BAISF12 sHEeT 1 oF ]
N GROUP of TELESCOPES MECHANICAL

[ N I

| 6

CAD FILE BAISF12.dwg




1

1 |

8 |

9 | 10

15 | 16

Drawing No:

BAISFOO

DO NOT SCALE

IF IN DOUBT ASK

THIRD ANGLE@—G

adjustment mechanism

detail B

is scaled up 2 times

Eric Hogervorst 23/12/1999
ISS | DRAWN By oAE. | APPROVED By | BATE.
UNLESS OTHERWISE STATED TITLE:
AL DVENSONS TN mm ISAAC NEWTON GROUP
mm General Assembly Apartado de Correos,321
CENERAL TOL: £ — Ingrid Silver Flat 38780 S/C de La Pama
o -
- s AN SYSTEN SPAIN
(MICRONS) % MATERIAL: B ORIGNAL SCALE e Box s TE
102 s Ingrid Silver Flat LocAToN Tel: +34 922 425 400
FINISH: SHEET SIZE ITEM assy USED ON
DRAWING
port - A1 [ie osere - BAISFOO sHEeT 1oF 1
ISAMC NEWTON CROUP of TELESCOPES | MECHANICAL NUMBER
1 T A N 4 [T T 7 10 I il I 2 B3 l T4 l 5 T 16

CAD FILE BAISF0O0.dwg




-

1 /i

4

\ 5

8

Drawing No:

BAISFOB

note: total quantity: 2
one with 5.2 holes
one without @ 5.2 holes

DO NOT

SCALE

IF IN DOUBT ASK

85.2 (3x) see note

THIRD ANGLE@—JE‘L

w
L
o
oa
>
w0
©
o
<~
Te)
5
15
40
65
2[0)
1 Eric Hogervorst | 22/12/1999
1SS DRAWN By oAE. | APPROVED By | BATE.
UNLESS OTHERWISE STATED | TITLE:
ALL DIMENSIONS IN mm Web45° ISAAC NEWTON GROUP
. - Apartado de Correos, 321
CENERAL TOL: + 0.2 Ingrid Silver Flat 38780 S/C de La Palma F
ANGULAR TOL: + 0.2 Canary Islands
SURFACE FINISH  1.¢ VATERIAL ORIGINAL SCALE AN SYSTEN WG TYPE SPAIN
(MICRONS) % dural A&G Box part
1.1 [wsvemn LocATon Tel: +34 922 425 400
REMOVE ALL SHARP EDGES Ingrid Silver Flat :
mre‘;f/:ncfmripl.‘tg'?w):’sm e ISaac NEWTON FINISH: SHEET SiZE |TTEM N USED ON
o COPES and may not be copled, . par DRAWING
i el o o o el black anodised A3 [ osere BAISFO4 wovser | DAISFOB sHeeT 1 oF ]
IN CROUP of TELESCOPES MECHANICAL

[ N I

| 6

CAD FILE BAISFO06.dwg



-

1

2 3 b

5

8

Drawing No:

BAISFO5

DO NOT SCALE

84

7R
U

65
>

40

7D
U

IF IN DOUBT ASK

15

(o)

80

THIRD ANGLE@—JE‘L

1 Eric Hogervorst 22/12/1999
1SS DRAWN By oA APPROVED By | AT
UNLESS OTHERWISE STATED [ TITLE:
ALL DIMENSIONS IN mm Web ISAAC NEWTON GROUP
. . Apartado de Correos, 321
CENERAL TOL: + 0.2 Ingrid Silver Flat 38780 S/C de La Palma
ANGULAR TOL: + 0.2 Canary Islands
SURFACE FINISH 1 g VATERIAL: ORIGNAL SCALE WA SYSTEN WG TVPE SPAIN
(MICRONS) % dural 11 A&G Box part
N SUB—SYSTEM .
REMOVE ALL SHARP EDGES Silver Ingrid Flat oo Tel: +34 922 425 400
G’ren‘;i]:ncfumreﬂl?cwzﬁsm the Isu4c NEWTON |FINISH: SHEET SizE  [ITEM N USED oN
o “GPES and may not be copied, . par DRAWING
i el o o o el black anodised A3 | oseroe BAISFO+4 wovger | BAISFOS sHeeT 1 or ]
IN CROUP of TELESCOPES MECHANICAL

Y

6

CAD FILE BAISFO5.dwg



ﬂn

mm%ﬁ

K el

>

1T




[ w

L

5

8

" BaIsFo4

DOUBT ASK THIRD ANGLE@» 45‘
270(2%)
72(2x)
©
?
" P
e M
S gl
A
£
5
Sl om
T R
N
3
=
3
S
3
o
=
8
o _
P
<
©
o b
S ke
2
< _
S
3
‘o
=
&
o S
B 2
p X
s X
N <+
L=
112
17 f
230
c’sunk holeg6.2 for M6 bolt (8x)
| [ [ ‘ 2
| ‘ 1
1 |
t T
210(centerline)
r
380
| Eric Hogervorst | 21/12/1998
1SS | DRAWN By ownm | APPROVED By | 24T
UNLESS QTHERWSE STATED TITLE:
ALL DIMENSIONS N mm Movingplate [S;‘Afl ;VE;V?)N GR;’;{P
AR partado de Correas,
SENERAL TOL 2 0.2 Ingrid Silver Flat 38780 5/C de La Palme
e o 02 Canary Islands
18 WA SYSTEN WS TYPE SPAIN
(MICRONS) & MATERIAL: dural m:“;mz ABG Box part
REMOVE ALL SHARP EDCES . ™ Siver Ingrid Fiat AN gy Tel: +34 822 425 400
e e o e Ty yErr (NS N ST [ ort v DRAWING
TSRS Lt e att black painted A I~ anse o BAISFO4 sweeT 1o 1

DO NOT SCALE ‘ IFIN

\ 6

CAD FILE BAISFO4.dwg



1 2 3 4 | 5 6 7 8

™" BAISFO8 DO NOT SCALE | IF IN DOUBT ASK THIRD ANGLE@»—G

10x45° (2x)

— 3 HOLES M4 EQUI
/SPACED ON 29 PCD (3X)

~_ 5 HOLES #12 EQUI
/@ SPACED ON 2130 PCD

162

99

79
|
|
\
#5.2 (6x)

49
|

70

110
] 140

Eric Hogervorst  [22/12/1999

0ATE oATE
1 off 1SS | DRAWN By AT | APPROVED By | 2ATE
UNLESS QTHERWSE STATED | TILE:
ALL DIMENSIONS N mm Mounting Plate ISAAC NEWTON GROUP
unen Apartado de Correos, 321
s 1 o2 Ingrid Silver Flat 36780 5/C de la Palma
- Canary Islands
SURFACE FINSH 1 RTERAD GRGAL SO I ST e SPAIN
(MICRONS) ¢ dural - AZG Box part
REVOVE ALL SHARP EDGES T Siver ingrid Fot Y Tel: +34 022 425 400
c FINISH: ESEam ort - DRAWING
black anodised A2 e BAISFOB wowaer | DAISFO8 sHeeT Tor 1
MECHANIGAL

\ 6

CAD FILE BAISFO8.dwg




140

130

(4x)

20x45°




1

1 |

8 |

9 | 10

15 | 16

Drawing No:

BAISFOO

DO NOT SCALE

IF IN DOUBT ASK

THIRD ANGLE@—JE‘L

adjustment mechanism

detail

B is scaled up 2 times

Eric Hogervorst

23,/12/1999

DATE DATE
ISS| DRAWN By DA | APPROVED By | AT
UNLESS OTHERWISE STATED | TITLE: ISAAC NEWTON GROUP
ALL DIMENSIONS INmm General Assemb‘y Apartado de Correos, 321
EEZET:; % i - Ingrid Silver Flat 38780 S/C de La Palma
- - Canary Islands
SURFACE FINISH MATERIAL: ORIGNAL SCALE [WAIN SYSTEN DG TYPE SgA\N
(MICRONS) % ) _ 19 AZG Box GA
REMOVE ALL SHARP EDGES : B Ingrid Silver Flat roeamen Tel: +34 922 425 400
urnent hEL\EHSQ! to the ISAAC Nnbrmv FINISH: SHEET SIZE ITEM assy USED ON
o ORAWING
- A1 [fe osaroe - BAISFOO sHEET ToF 1
‘ MECHANICAL NUMBER
1 T LT T T T7Y I N | 10 I il I 2 3 I i I S T 6

CAD FILE BAISFQO.dwg



